9stufige Grauskalierung zwischerL* g;n=3.6 undL* gaw=95.9, Yoref=10.0, Normierung WeiRW
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.,8) i Normierung: Yiaiw=Yoaw

1.0 96.0
0.882 89.0
0.759 81.7
0.632 74.2
0.501 66.4
0.369 58.5
0.24 50.9
0.123 44.0
0.0 36.7

YoaitYoref
Daw Yoref

L*0ane3.6,L*0am49.8,L%0an=96.0, Yoan=0.4, Yoam18.2, Yoaw=90.0, Coay=Yoaw Yoan=225.0
L*tan=36.7,L*tau=57.5,L*1an~96.0, Yian=9.4, Ytau=25.4, Y1an~90.0, Cray=Ytaw: Ytan=9.6
Regularitatsindex nach ISO/IEC 15775:2022, Anhan
g* = 100 PL* min] / [AL* max], L* cieLag = 116 [Y/Yq]V/
g%= 33, g¥y= 24

16 mitY >=0,882,Y,=100
g’%= 92, g%5= 88
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